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3 Inwhich of the countries in Figure 1 do

Start at Question 1 if you are in Year 10 children have the most responsibility for
or younger. Start at Question 16 (on water collection in rural areas?
page 5) if you are in Year 11 or 12. A Burundi
B Ethiopia
Women mm Girls Men mm Boys Water on premises C Madagascar
D Niger
—
South Sudan 4 E South Sudan
Burundi | —
. — 4  Whichregionis over-represented in the
Niger — data in Figure 1?
Mozambique | I - A Central America
_ — B North Africa
Malawi | I .
C Southeast Asia
Central L .
African Rep. s D Sub-Saharan Africa
Liberia - f— E WestAsia
Burkina F 1 -
urna raso 5 Whatis one reason why girls collect more
Lesotho 2 - water than boys?
o — A Boys are physically strongert.
Ethiopia ] , . .
B Boys’ education is more valued.
Sierra Leone - C Child labour is common in these countries.
Somalia 2 - D Gir|S spend more time caring for younger
children.
D.R.C (| f—
- R. Longo E Journeys to collect water can be unsafe.
—
Madagascar = s Sydney Melbourne === Perth
10 20 30 40 50 60 70 80 90 ——a— Adelaide Brisbane = =—=— Canberra

Per cent 5
Figure 1. Responsibility for water collection in rural 10 J\/K, -

areas in countries where at least 4 in 5 households
have no access to water on premises 15
X
Data source: WHO/UNICEF é 20 A——an_
T ————
1 For the countries in Figure 1, who does 25
most of the water collection in rural areas? \_V\PQ:‘
A boys 80
B girls 35
C men 40 1 1 1 1 1 1 1 1 1 1 1 1 1 1 ]
< 0 O 0 OO O AN O I 10 O~ 0 o
D women S8888828c88c58c8za%
E no-one as water on premises Year

Figure 2. Mercer Quality of Living Index for selected

2  Using Figure 1, what percentage of water
Australian cities, 2004-2019 Data source: Mercer LLC

collection in Sierra Leone’s rural areas is by

2
males? 6 Which of the cities in Figure 2 experienced
A 5% the most significant decline in the Mercer
B 10% ranking between 2004 and 2019?
C 15% A Adelaide
D 20% B Brisbane
E 25% C Canberra

D Perth

E Sydney
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7  Using Figure 2, which of these statements
is most accurate?

A Adelaide’s ranking increased between
2004 and 2008.

B Brisbane’s ranking increased between
2008 and 2015.

C Melbourne’s ranking increased between
2005 and 2008.

D Perth’s ranking has remained relatively
constant between 2004 and 2019.

E Sydney’s ranking fluctuated significantly
between 2008 and 2012.

8  Why would the ranking of four cities in
Figure 2 have declined from 2004 to 2005?

A centralisation of services

decreased population

growth in employment opportunities

lack of investment in transport infrastructure
unstable political system

moo o

9 The EIU Liveability Index ranks Sydney
differently from the Mercer Index for
the same years. What is the most likely
explanation for this inconsistency?

A The indexes use different methods of
calculation.

B Merceris based in New York and EIU in
London.

Sydney was changing rapidly.
There are mistakes in the data analysis.
E There is bias towards Sydney.

O O

Net Migration Flows (people)
— 1,000 - 2,500

2,501 - 5,000

5,001 - 10,000
. > 10,001

Figure 3. Net migration flows larger than 1,000
people between states and territories, 2011-2016
© Commonwealth of Australia, Australian Bureau of Statistics

10

1

12

13

Using Figure 3, which state experienced
the largest net loss of residents interstate?

A Australian Capital Territory
New South Wales
Queensland

Tasmania

Western Australia

mo o o

Using Figure 3, which of these statements
on net internal migration in Western
Australia is accurate?

A Residents were gained from NSW and SA
and lost to Victoria.

B Residents were gained from Tasmania and
SA and lost to Queensland.

C Residents were lost to NSW and
Queensland and gained from the NT.

D Residents were lost to the NT and
Tasmania and gained from Queensland.

E Residents were lost to Victoria and
Queensland and gained from NSW.

Which conclusion is best supported by the
data in Figure 3?

A Approximately the same number of people
moved from Victoria to Queensland as
moved from Queensland to Victoria.

B Less people moved from Victoria to
Queensland than moved from Queensland
to Victoria.

C Lessthan 1000 people moved from
Queensland to Victoria.

D Lessthan 1000 people moved from
Victoria to Queensland.

E More people moved from Victoria to
Queensland than moved from Queensland
to Victoria.

Which is the best explanation of why
the Australian Government tracks net
migration numbers?

A to assess which states or territories are
most popular with migrants

B to calculate which states or territories will
experience future losses in populations
and prevent this with advertising

C to create limits on the number of migrants
permitted between states or territories

D toencourage people to move away from
over-populated states or territories

E to predict the funding states and territories
will require for infrastructure to support
populations
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Figure 4. K'gari (Fraser Island) recreation area map, Great Sandy National Park

© State of Queensland, Queensland Parks and Wildlife Service
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14

15

16

17

Using Figure 4, which direction is Indian
Head (C2) from (Eli Creek (C4)?

A NE
NNE
S
SSW
SW

mooOw

Using Figure 4, at which of these places
can tourists refuel?

A Central Station (B5)
Eurong QPWS office (B5)
Orchid Beach (C2)
Waddy Point (C2)
Wathumba (C2)

B
C
D
E

Start at Question 16 if you are in Year 11
or 12. Other students continue answering

questions.

Using Figure 4, which route would tourists
use to drive to Lake Benaroon (B5)?

A Central Lakes scenic drive
Great Walk

Lake Garawongera scenic drive
Northern Forests scenic drive
Southern Lakes scenic drive

moow

Using Figure 4, what is the approximate
distance from Eli Creek (C4) to Indian Head
(C2)?

A 16 km

22 km

28 km

34 km

39 km

mooOw

18

19

20

21

Looking at grid square A6 in Figure 4, which
type of water body occupies the largest
area?

A canal
creek
estuary
gulf
strait

moow

Based on the data in Figure 4, what is the
approximate area of Fraser Island?

A 155km?
600 km?
1050 km?
1650 km?
2300 km?

mo oo

Based on the data in Figure 4, what is

the most appropriate protected area
classification for the K’gari (Fraser Island)
Section of Great Sandy National Park?

A managed mainly for conservation and
recreation

B managed mainly for conservation of a
natural monument

managed mainly for science

D managed mainly for sustainable use of
natural resources

E managed mainly for wilderness protection

o

The shape of Fraser Island (Figure 4)
indicates that it was:

A artificially created

B formedinadelta

C formed of sand deposited by longshore drift
D

formed over a hotspot in the underlying
mantle

the remnant of a volcanic crater

m
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Figure 5. Urban and rural populations in Indonesia
© UN DESA Population Division CC BY 3.0 IGO

22 Using Figure 5, what was the approximate
urban population of Indonesia in 2018?

A 125 million
150 million
245 million
270 million
300 million

mooOw

23 Using Figure 5, which statement best
describes Indonesia’s urban/rural
population structure?

A Declining urban population between
2025 and 2030 is expected to result in an
increase in rural population.

B Rapidly increasing urban population has
been larger than slightly declining rural
population since 2011.

C Rural population has experienced a slight
decline since 1950, and urban population,
is expected to plateau in 2030.

D Significant increases in urban population
from 1975 to 2018 significantly depleted
rural population.

E Urban population accounts for most of
Indonesia’s population since the 1960s, as
rural population declined in the 1970s.

24 Which process has resulted in the pattern
shown in Figure 5?

A rural to urban migration
suburbanisation

urban renewal

urban sprawl

mooOw

urban to rural migration

25 Based on the datain Figure 5,
approximately what percentage of
Indonesia’s population is expected to be
urban and rural in 2050?

A 50% urban, 50% rural
60% urban, 40% rural
75% urban, 25% rural
85% urban, 15% rural
90% urban, 10% rural

mooOw

26 Which of these is one of the causes of rapid
urbanisation?

A decreasing rural birth rates
B improved access to services in rural areas

C improved economic opportunity in urban
areas

D improved natural environment in cities
E increasing urban birth rates

—f@i— Mean max. temperature =@ Mean min. temperature

mm  Mean rainfall
60 150

125

Temperature (°C)
(ww) |ireyurey

J FMAMUJ J A S OND
Month

Figure 6. Climate graph, Dodoma, Tanzania (6°10’S,
35°44°E)

Data source: World Meteorological Organization

- |

Tt

Figure 7. Area around Mvumi Makulu Village,

Dodoma District, Tanzania © E. Merrin
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27 Using Figure 6, what is Dodoma’s mean
minimum temperature in December?

A 19°C
30°C
34°C
48°C
76°C

moow

28 Based on the information in Figures 6 and 7,
which biome is typical of a climate like
Dodoma’s?

A desert

savannah

taiga

tropical rainforest
tundra

moow

29 Based on the information in Figures 6 and 7,
which type of climate does Dodoma have?

A equatorial
Mediterranean
semi-arid
temperate
tropical

moow

30 Taking into account the information in
Figures 6 and 7, which disaster would most
commonly affect Mvumi Makulu Village?

A avalanche
cyclone
drought
landslide
tsunami

moow

If you are in Year 8 or younger, stop at
Question 30. Other students continue

answering questions.

31 Based on the information in Figures 6 and 7,
which type of agriculture is likely to be
common in the Dodoma District?

A broadacre grain farms
cattle grazing

dairy farms

fruit orchards

rice growing

moow

= Aboriginal and Torres Strait Islander peoples
== Non-Indigenous Australians

Males 754 Females

70-74
65-69
60-64
55-59
50-54
45-49
40-44
35-39
30-34
25-29
20-24
15-19
10-14
5-9
0-4
141210 8 6 4 2 0 0 2 4 6 8 10 12 14
Per cent

Figure 8. Age structure of the Australian population,
by Indigenous status and sex, 2017
© Commonwealth of Australia, AIHW analysis of ABS data

32 Based on the datain Figure 8, which of
these is the most significant difference
between the Indigenous and non-
Indigenous age structures in Australia?

A Indigenous Australians have a higher life
expectancy than non-Indigenous.

B Indigenous Australians have a younger
population structure than non-Indigenous.

C Non-Indigenous and Indigenous
populations in Australia are ageing rapidly.

D Non-Indigenous Australians have more
children.

E Over 30% of non-Indigenous Australians
are below the age of 15 years.

33 Which of these is a pressing challenge for
Australia arising from its age structure?

A building childcare facilities to increase the
percentage of 15-49 year olds in the paid
workforce

B delivering aged and palliative care
resources to communities within the next
five to ten years

C encouraging all Australians to have fewer
children for stable population growth

D funding education scholarships for
Indigenous youth to reduce the gap in
long-term income earning ability

E providing health education for young non-
Indigenous Australians to increase their life
expectancy
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TRANSPORTATION
CLUSTERS

Figure 9. Network visualisation of air traffic transportation clusters, 2016
© martingrandjean.ch CC-BY-SA; Data source: openflights.org

34 Which geographical concept does Figure 9
bestillustrate?

A

mooOm

change
environment
interconnection
place

space

35 Which of these statements applies to the
data visualised in Figure 9?

A

B

All developed regions of the world have a
large number of airport clusters.

Regions with large populations all have
many airport clusters.

Routes are irrelevant to the location of
airport clusters.

The southern hemisphere has the greatest
number of airport clusters and routes.

There are a large number of routes between
the world’s two most developed regions.

36 A new coronavirus, COVID-19, emerged in
late 2019. Taking into account the data in
Figure 9, which of these statements is most
accurate?

A

B

Air travel contributes to the spread of all
diseases.

All domestic and international airline travel
should be cancelled during the outbreak.

COVID-19 will not spread to Oceania.

Large travel numbers can contribute to
epidemics becoming pandemics.

There is little correlation between the
spread of outbreaks and air travel.
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Table 1. Australia’s Human Development Index (HDI) trends, 1990-2018 Data source: UNDP

Life expectancy | Expectedyears Mean years of GNI per capita
at birth of schooling schooling (2011 PPP$)*

1990 76.9

1995 78.3 18.8
2000 79.6 20.5
2005 81.0 20.3
2010 81.9 19.8
2015 82.8 23.3
2016 83.0 22.9
2017 83.1 221
2018 83.3 221

1.7 27,679 0.866
11.8 29,524 0.883
11.9 34,533 0.898
1.2 37,669 0.902
12.6 39,982 0.926
12.5 43,246 0.933
12.6 43,653 0.935
12.7 43,756 0.937
12.7 44,097 0.938

*GNI = Gross National Income; PPP = Purchasing Power Parity, a hypothetical currency used to compare costs from one country to another

37 Using Table 1, which of Australia’s 39
indicators in the HDI increased over 50%
between 1990 and 2018?

A expected years of schooling
GNI per capita

HDI value

life expectancy at birth
mean years of schooling

moom

40
38 Based on the data available in Table 1, what
do the increases in Australia’s indicators in
the HDI suggest?

A By 2025, Australia will hold the world
number one position in the Human
Development Index.

B Decreasing birth rates have decreased
pressure on public services, resulting in
increased standards of living.

C The quality and standard of living is,
on average, high across the Australian
population.

D Quality medical care and education are
only available to Australians with high
incomes.

E The standard of education is improving.

Which of these data points goes against
the trends evident in Table 1?

A 1995 life expectancy at birth
2000 GNI per capita

2010 expected years of schooling
2016 HDI value

2018 mean years of schooling

moow

Which of these statements best describes
the limitations of the HDI?

A The economic focus fails to assess the role
of health in the wellbeing of a population.

B It does not accurately capture inequality
within countries based on income or
cultural background.

C It fails to assess the role of education in
improving social and economic outcomes
for a population.

D It gives undue importance to the role of
the environment on peoples’ health and
wellbeing.

E It reflects short-term changes in income
and schooling, not long-term change in the
economy.

If you are in Year 9 or 10, stop at Question
40. Year 11s and 12s continue answering

guestions on next page.
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[ 2018 Total measles [ 2019 Total measles
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Figure 10. Measles cases by WHO region for 2018
and 2019 Data source: WHO

41 Using Figure 10, which WHO region had the
fewest measles cases in 2018?

A Africa

The Americas

Eastern Mediterranean
Europe

South-East Asia

moo o

42 Based on the datain Figure 10, which
statement accurately reflects the change
in measles cases in the African region
between 2018 and 2019?

A Cases have decreased by approximately
142,000.

Cases have halved.

Cases have increased by 142%.
Cases have more than tripled.
Cases have remained constant.

moow

43 Based on the datain Figure 10, which
region experienced the greatest
percentage decrease in the incidence of
measles from 2018 to 2019?

A Africa

The Americas
Europe
South-East Asia
Western Pacific

moo o

44 What would the type of graph in Figure 10
be chosen to highlight?

A change in a value over time
correlation of two variables
frequency at which a value occurs
spatial change in a value

total number of occurrences

mooOw

When enough people are vaccinated against a disease
to prevent it from spreading, this is known as ‘herd
immunity’. ... To achieve herd immunity for infectious
diseases, coverage needs to be high. For example,
measles is highly infectious so it needs a coverage
rate of about 92% to 94%.

Figure 11. Herd immunity
Source: Australian Dept of Health

What is herd immunity? how it works
[.!.L-"'_', Not vaccinated,
contagious

pa
! || Healthy, Healthy,
|l| non-vaccinated vaccinated

No immunization

m v

Figure 12. How herd immunity works
©Centers for Disease Control and Prevention

Table 2. Annotation options for Question 45

I ™ S

a if most get vaccinated

b if only some get vaccinated
c the virus easily spreads

d the virus is contained
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Figure 13. Vaccinated against measles (% of children 12-23 months), 2000-2018 © World Bank, CC BY 4.0
45 Considering the information in Figure 11, 47 Based on the datain Figure 13 and Table 3,
which answer links each position in Figure which statement best explains the increase
12, to its correct annotation from Table 2? in measles cases in Madagascar in 2017
A I=a, lI=d, li=b, IV=c and 2018?
B I=b, li=c, lll=a, IV=d A Inresponse to the extreme increase in
measles cases in 2018, the data shows a
C I=c,ll=a, lll=d, IV=b L , . -
significant increase in vaccination rates.
D I=d,ll=b, lll=c, IV=a . . - .
B Anincrease in vaccination rates resulted in
E I=d, ll=a, lll=b, IV=c the extreme increase in measles cases.
C Infant mortality increased due to the
46 Which listis of all the countries in Figure 13 measles epidemic.
that, from 2002 to 2008, were vaccinating D The measles epidemic is a result of
at arate to achieve herd immunity for consistently low vaccination rates.
measles? . . .
_ E There is no relationship between
A Brazil vaccination rates and measles cases.
B Madagascar, Venezuela and Yemen
C Philippines, Brazil and Ukraine 48 Based on the data in Figure 13 and Table 3,
D Ukraine and Brazil which statement best describes the reason
E Venezuela and Philippines for the emergence of measles in Brazil in
20187
Table 3. Increase in measles cases 2016-2018, for A Brazil is a least developed country (LDC).
countries with the hlghest increases 2017 to 2018 B From 2016 vaccination rates increased by
Data source: WHO only 10%.
Ukraine 4,782 53,218 D Vaccination rates across the years have
Madagascar 17 85 03,558 been consistently low.
N o
B e— 647 2,409 20,758 E Vaccination rates were at 80%, therefore
the whole community was protected.
Brazil 0 0 10,362
Yemen 143 2,101 13,622
Venezuela 1 727 5,668
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Figure 14. Age distribution, vaccination status and incidence of measles cases in Madagascar, Dec 2018-Nov
2019 Source: WHO

T i (]
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Figure 15. Coverage with one dose of measles vaccine, 2018 Source: WHO
49 Based on the datain Figure 14, which 50 Based on the datain Figures 14 and 15,
age group had the highest incidence which inference is most appropriate for
rate of measles in Madagascar between Venezuela, Philippines and South Africa?
December 2018 and November 20197 A Adults aged 25+ are the most likely age
A <1yearoldinfants group to contract measles.
B 1-4 year old children B Atleast 50% of the population are likely to
C 5-9yearold children contract measles.
D 15-24 year old youths C Children aged 4 or younger are the most
E 40+ year old adults likely age group to contract measles.

D No-one will contract measles.
E Over 120,000 people will contract measles.

Thank you for taking part in the 2020

Australian Geography Competition.
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